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I ymwn: simultaneous mm22
a If: a ewe had her first birth and two males came out simultaneously
i 2777 both go to 1n3, per v. 1 (oMa1)
ii ~ ©7p5m: only one goes to 11, as both could not have been born at exactly the same moment (Dxn¥5 R"R)
1 v the jnd picks the better one
(a) Reason: he assumes the healthier one came out first (x712)
2 y7romra pinwn and the other grazes until it gets a on
(a) 2o Ny 7 - meaning, the 1> gets weaker one
(i) Challenge (xax 72 871 ’7): MWwn states DN’ PINVN (we assume — they assess value and divide it)
(if) Answer: see from R0 (below) — »"1 says n”ynn — 03 must prove which is 1132
1. Therefore: here, the mv” (fat — difference between bigger and smaller) is “between them”
3 Then: when slaughtered, mnn must be given to 1n3
(a) Dissent: "oV "1 — exempt from mann
(i) Analysis: 0" holds 271, since 112 can argue “7v9) nnn” —if 1231, he gets all; if not — gets Mann
(if) ’or ’1 (R27) — we consider it as if 03 got it and sold it (for 7132 he received) — no mann
(b) &7 “all agree” (meaning *ov ") that if 1132 pav, without "p2’5>n” in 1n3’s hand, is manna a»n
(i) Challenge: this is obvious; only reason »ov "1 exempted here is due to 13 12 paYn
(ii) Defense: we might have thought to exempt, so as to prevent anyone from shearing/working—%"np
1. Challenge: vov "1 explicitly exempted (contra n™) due to 102 11 vaon
2. Defense: that may have been his response to n”, but he was concerned about nTay n - 5"np
(c) tangent (97): “all” agree that a 7wyn pav is exempt from nann
(i) “all”: must mean n"
1. challenge: this is obvious, as n" obligates in 7122 pav because either way the 172 has a claim
a. which: doesn’t apply to 7wyn pao
b. defense: perhaps n” would obligate here nonetheless, nann NN Nanwn XYY - Y"np
i.  challenge: how could we think this? o1 "7 ruled (xn»12) that if 103 71 va’on — 09,
and that is where n" dissents and obligates = his 2vn is due to 113 T, not nanwn rYY
ii. answer: perhaps n™ obligates even in 9wyn pav, and we learn about 7132 pav to show
extent of Y01 "7’s position: even when 112 has “either way” claim, he exempts — 9"np
iii If: one of them died
1 v they divide the (value of) the other
(a) Challenge: why divide (according to v™); if fat one died, that was 1n3’s (gets nothing); if other died, he
gets 100% of fat one
(b) Answer: v" changed his mind and agreed with »"1 (in xw»)
2 y”r we employ the rule of n”ynn > the jn3 gets nothing
(a) Analysis: ®»n "3 compared v™’s ruling to 2 people who entrusted their sheep (1 each) with a shepherd
and one died - the na%n is that the shepherd leaves the live one and they fight over it
(i) And:y™’s ruling is like one who entrusted his lamb to 2”ny3; it got mixed up with his own lamb
and one died - RI0 PHY 11ann RN (2”1pa gets to keep the live lamb)
(b) Question: what's their disagreement? Each of 0™ and »"1 surely agrees to the na%n in each of these cases
(i) Answer (K370r 97): case where 1¥n belongs to 2”nya and his shepherd is a 172 (gets all his m1133)
1. v the 2”nya is mpn some of his 9¥n to 113 M1 (for him to be nnp the m171131) to enable mxn
a.  Therefore: it is similar to two people entrusting their sheep to ny17 (equal claims) — o>
2. y”1. 2"nya does not nMipn anything to ny11 (has loss) = similar to entrusting to 2”nya — n"ynn
b If: the ewe had a male and female simultaneously — the 10> gets nothing
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I Analysis of nnan/n
a N2 77237 we see that 3’1" maintains that natural occurences can be simultaneous (20w 772 DXNYY TWAR)
i And: certainly if intended (DR »121 D¥NXY TVAR)
ii ~ We see: that mnan reject simultaneity as a natural occurrence
iii Question: what is position of D’nan on deliberate simultaeity (2078 *12 D¥NXY TVAR)
1 Proposed proof: the X1p on vIn circumscribed narn to distinguish between 02155 nnnn onT
(a) Rejection: perhaps they thickened it to ensure that “up” was above halfway mark etc.
2 Proposed proof: size of 93 and namn
(a) Rejection: 'n commanded they be built — as exactly as possible, per v. 2
3 Proposed proof (¥277 37): Rn»a - if Xnv ©IN MN is broken exactly in half — both Xnv, as D¥NYY "R
(a) Rejection (82775 37): ©IN *93 has jagged edges and pits, making exactitude nearly impossible
4 Proposed proof: 8" rules that if a murder victim is found to be exactly between 2 cities — both bring n%y
(a) Assumption: 8" holds that TR »172 D2NXY TWar and "N11Ip” means even "M11p”
(b) Rejection: he favors »"n"™’s opinion — even mnw "1 we say DXNXY TWAR
5  Suggestion: the issue of DR *12 DXNXS TWAR is subject to DRIN NPONN
(a) If: annis found exactly between two towns, n’nan — don’t bring at all; X" — each brings n%ay
(i) Assumption: DNIN — DXNXY R'R; R™ — DRNYY TVOR
(ii) Rejection: if onan hold nxnxy 8"R, let both towns bring one n%y together and make a *Rin
(b) Rather: both of these positions accept n¥nxy 7war and disagree if "n217p” could mean "mayrp”
6 Resolution: onan (in above case) say the 2 towns bring one n%y together and make a »xin
(@) Reason: they hold DR *172 7axr n¥ny¥’ R”R (if they held n1p but not manp — bring none)
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